
 

 

CBSEASSISTANCE.COM 
FACTORISATION 

CLASS 8 

R.S. AGGARWAL (SOLUTIONS) 

Ex. 7A 

1. Factorise: 

(i) 12𝑥 + 15 

Solution: 

12𝑥 + 15 

= 3(4𝑥 + 5) 

 

(ii) 14𝑚 − 21 

Solution: 

14𝑚 − 21 

= 7(2𝑚 − 3) 

 

(iii) 9𝑛 − 12𝑛2  

Solution: 

9𝑛 − 12𝑛2 

= 3𝑛(3 − 4𝑛) 

 

2. Factorise: 

(i) 16𝑎2 − 24𝑎𝑏 

Solution: 

16𝑎2 − 24𝑎𝑏 

= 8𝑎(2𝑎 − 3𝑏) 

 

(ii) 15𝑎𝑏2 − 20𝑎2𝑏 

Solution: 

15𝑎𝑏2 − 20𝑎2𝑏 

= 5𝑎𝑏(3𝑏 − 4𝑎) 

 

(iii) 12𝑥2𝑦3 − 21𝑥3𝑦2 

Solution: 

12𝑥2𝑦3 − 21𝑥3𝑦2 

= 3𝑥2𝑦2(4𝑦 − 7𝑥) 
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3. Factorise: 

(i) 24𝑥3 − 36𝑥2𝑦 

Solution: 

24𝑥3 − 36𝑥2𝑦 

= 12𝑥2(2𝑥 − 3𝑦) 

 

(ii) 10𝑥3 − 15𝑥2 

Solution: 

10𝑥3 − 15𝑥2 

= 5𝑥2(2𝑥 − 3) 

 

(iii) 36𝑥3𝑦 − 60𝑥2𝑦3𝑧 

Solution: 

36𝑥3𝑦 − 60𝑥2𝑦3𝑧 

= 12𝑥2𝑦(3𝑥 − 5𝑦2𝑧) 

 

4. Factorise: 

(i) 9𝑥3 − 6𝑥2 + 12𝑥 

Solution: 

9𝑥3 − 6𝑥2 + 12𝑥 

= 3𝑥(3𝑥2 − 2𝑥 + 4) 

 

(ii) 8𝑥2 − 72𝑥𝑦 + 12𝑥 

Solution: 

8𝑥2 − 72𝑥𝑦 + 12𝑥 

= 4𝑥(2𝑥 − 18𝑦 + 3) 

 

(iii) 18𝑎3𝑏3 − 27𝑎2𝑏3 + 36𝑎3𝑏2 

Solution: 

18𝑎3𝑏3 − 27𝑎2𝑏3 + 36𝑎3𝑏2 

= 9𝑎2𝑏2(2𝑎𝑏 − 3𝑏 + 4𝑎) 

 

5. Factorise: 

(i) 14𝑥3 + 21𝑥4𝑦 − 28𝑥2𝑦2 

Solution: 

14𝑥3 + 21𝑥4𝑦 − 28𝑥2𝑦2 

= 7𝑥2(2𝑥 + 3𝑥2𝑦 − 4𝑦2) 
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(ii) −5 − 10𝑡 + 20𝑡2 

Solution: 

−5 − 10𝑡 + 20𝑡2 

= −5(1 + 2𝑡 − 4𝑡2) 

 

6. Factorise: 

(i) 𝑥(𝑥 + 3) + 5(𝑥 + 3) 

Solution: 

𝑥(𝑥 + 3) + 5(𝑥 + 3) 

= (𝑥 + 3)(𝑥 + 5) 

 

(ii) 5𝑥(𝑥 − 4) − 7(𝑥 − 4) 

Solution: 

5𝑥(𝑥 − 4) − 7(𝑥 − 4) 

= (𝑥 − 4)(5𝑥 − 7) 

 

(iii) 2𝑚(𝑙 − 𝑛) + 3(𝑙 − 𝑛) 

Solution: 

2𝑚(𝑙 − 𝑛) + 3(𝑙 − 𝑛) 

= (𝑙 − 𝑛)(2𝑚 + 3) 

 

7. 6𝑎(𝑎 − 2𝑏) + 5𝑏(𝑎 − 2𝑏) 

Solution: 

6𝑎(𝑎 − 2𝑏) + 5𝑏(𝑎 − 2𝑏) 

= (𝑎 − 2𝑏)(6𝑎 + 5𝑏) 

 

8. 𝑥3(2𝑎 − 𝑏) + 𝑥2(2𝑎 − 𝑏) 

Solution: 

𝑥3(2𝑎 − 𝑏) + 𝑥2(2𝑎 − 𝑏) 

= (2𝑎 − 𝑏)(𝑥3 + 𝑥2) 

= 𝑥2(2𝑎 − 𝑏)(𝑥 + 1) 

 

9. 9𝑎(3𝑎 − 5𝑏) − 12𝑎2(3𝑎 − 5𝑏) 

Solution: 

9𝑎(3𝑎 − 5𝑏) − 12𝑎2(3𝑎 − 5𝑏) 

= (3𝑎 − 5𝑏)(9𝑎 − 12𝑎2) 

= 3𝑎(3𝑎 − 5𝑏)(3 − 4𝑎) 
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10. (𝑥 + 5)2 − 4(𝑥 + 5) 

Solution: 

(𝑥 + 5)2 − 4(𝑥 + 5) 

= (𝑥 + 5)(𝑥 + 5 − 4) 

= (𝑥 + 5)(𝑥 + 1) 

 

11. 3(𝑎 − 2𝑏)2 − 5(𝑎 − 2𝑏) 

Solution: 

3(𝑎 − 2𝑏)2 − 5(𝑎 − 2𝑏) 

= (𝑎 − 2𝑏)[3(𝑎 − 2𝑏) − 5] 

= (𝑎 − 2𝑏)(3𝑎 − 6𝑏 − 5) 

 

12. 2𝑎 + 6𝑏 − 3(𝑎 + 3𝑏)2 

Solution: 

2𝑎 + 6𝑏 − 3(𝑎 + 3𝑏)2 

= 2(𝑎 + 3𝑏) − 3(𝑎 + 3𝑏)2 

= (𝑎 + 3𝑏)[2 − 3(𝑎 + 3𝑏)] 

= (𝑎 + 3𝑏)(2 − 3𝑎 − 9𝑏) 

 

13. 16(2𝑝 − 3𝑞)2 − 4(2𝑝 − 3𝑞) 

Solution: 

16(2𝑝 − 3𝑞)2 − 4(2𝑝 − 3𝑞) 

= 4(2𝑝 − 3𝑞)[4(2𝑝 − 3𝑞) − 1] 

= 4(2𝑝 − 3𝑞)(8𝑝 − 12𝑞 − 1) 

 

14. 𝑥(𝑎 − 3) + 𝑦(3 − 𝑎) 

Solution: 

𝑥(𝑎 − 3) + 𝑦(3 − 𝑎) 

= 𝑥(𝑎 − 3) − 𝑦(𝑎 − 3) 

= (𝑎 − 3)(𝑥 − 𝑦) 

 

15. 12(2𝑥 − 3𝑦)2 − 16(3𝑦 − 2𝑥) 

Solution: 

12(2𝑥 − 3𝑦)2 − 16(3𝑦 − 2𝑥) 

= 12(2𝑥 − 3𝑦)2 + 16(2𝑥 − 3𝑦) 

= 4(2𝑥 − 3𝑦)[3(2𝑥 − 3𝑦) + 4] 

= 4(2𝑥 − 3𝑦)(6𝑥 − 9𝑦 + 4) 
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16. (𝑥 + 𝑦)(2𝑥 + 5) − (𝑥 + 𝑦)(𝑥 + 3) 

Solution: 

(𝑥 + 𝑦)[2𝑥 + 5 − (𝑥 + 3)] 

= (𝑥 + 𝑦)(2𝑥 + 5 − 𝑥 − 3) 

= (𝑥 + 𝑦)(𝑥 + 2) 

 

17. 𝑎𝑟 + 𝑏𝑟 + 𝑎𝑡 + 𝑏𝑡 

Solution: 

𝑎𝑟 + 𝑏𝑟 + 𝑎𝑡 + 𝑏𝑡 

= 𝑟(𝑎 + 𝑏) + 𝑡(𝑎 + 𝑏) 

= (𝑎 + 𝑏)(𝑟 + 𝑡) 

 

18. 𝑥2 − 𝑎𝑥 − 𝑏𝑥 + 𝑎𝑏 

Solution: 

 𝑥2 − 𝑎𝑥 − 𝑏𝑥 + 𝑎𝑏 

= 𝑥(𝑥 − 𝑎) − 𝑏(𝑥 − 𝑎) 

= (𝑥 − 𝑎)(𝑥 − 𝑏) 

 

19. 𝑎𝑏2 − 𝑏𝑐2 − 𝑎𝑏 + 𝑐2 

Solution: 

𝑎𝑏2 − 𝑏𝑐2 − 𝑎𝑏 + 𝑐2 

= 𝑏(𝑎𝑏 − 𝑐2) − 1(𝑎𝑏 − 𝑐2) 

= (𝑎𝑏 − 𝑐2)(𝑏 − 1) 

 

20. 𝑥2 − 𝑥𝑧 + 𝑥𝑦 − 𝑦𝑧 

Solution: 

𝑥2 − 𝑥𝑧 + 𝑥𝑦 − 𝑦𝑧 

= 𝑥(𝑥 − 𝑧) + 𝑦(𝑥 − 𝑧) 

= (𝑥 − 𝑧)(𝑥 + 𝑦) 

 

21. 6𝑎𝑏 − 𝑏2 + 12𝑎𝑐 − 2𝑏𝑐 

Solution: 

6𝑎𝑏 − 𝑏2 + 12𝑎𝑐 − 2𝑏𝑐 

= 𝑏(6𝑎 − 𝑏) + 2𝑐(6𝑎 − 𝑏) 

= (6𝑎 − 𝑏)(𝑏 + 2𝑐) 
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22. (𝑥 − 2𝑦)2 + 4𝑥 − 8𝑦 

Solution: 

(𝑥 − 2𝑦)2 + 4𝑥 − 8𝑦 

= (𝑥 − 2𝑦)2 + 4(𝑥 − 2𝑦) 

= (𝑥 − 2𝑦)(𝑥 − 2𝑦 + 4) 

 

23. 𝑦2 − 𝑥𝑦(1 − 𝑥) − 𝑥3 

Solution: 

𝑦2 − 𝑥𝑦(1 − 𝑥) − 𝑥3 

= 𝑦2 − 𝑥𝑦 + 𝑥2𝑦 − 𝑥3 

= 𝑦(𝑦 − 𝑥) + 𝑥2(𝑦 − 𝑥) 

= (𝑦 − 𝑥)(𝑦 + 𝑥2) 

 

24. (𝑎𝑥 + 𝑏𝑦)2 + (𝑏𝑥 − 𝑎𝑦)2 

Solution: 

(𝑎𝑥 + 𝑏𝑦)2 + (𝑏𝑥 − 𝑎𝑦)2 

= (𝑎𝑥)2 + (𝑏𝑦)2 + 2(𝑎𝑥)(𝑏𝑦) + (𝑏𝑥)2 + (𝑎𝑦)2 − 2(𝑎𝑥)(𝑏𝑦) 

= 𝑎2𝑥2 + 𝑏2𝑦2 + 2𝑎𝑥𝑏𝑦 + 𝑏2𝑥2 + 𝑎2𝑦2 − 2𝑎𝑥𝑏𝑦 

= 𝑎2𝑥2 + 𝑏2𝑥2 + 𝑎2𝑦2 + 𝑏2𝑦2 

= 𝑥2(𝑎2 + 𝑏2) + 𝑦2(𝑎2 + 𝑏2) 

= (𝑎2 + 𝑏2)(𝑥2 + 𝑦2) 

 

25. 𝑎𝑏2 + (𝑎 − 1)𝑏 − 1 

Solution: 

𝑎𝑏2 + (𝑎 − 1)𝑏 − 1 

= 𝑎𝑏2 + 𝑎𝑏 − 𝑏 − 1 

= 𝑎𝑏(𝑏 + 1) − 1(𝑏 + 1) 

= (𝑏 + 1)(𝑎𝑏 − 1) 

 

26. 𝑥3 − 3𝑥2 + 𝑥 − 3 

Solution: 

𝑥3 − 3𝑥2 + 𝑥 − 3 

= 𝑥2(𝑥 − 3) + 1(𝑥 − 3) 

= (𝑥 − 3)(𝑥2 + 1) 

 

27. 𝑎𝑏(𝑥2 + 𝑦2) − 𝑥𝑦(𝑎2 + 𝑏2) 

Solution: 
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𝑎𝑏(𝑥2 + 𝑦2) − 𝑥𝑦(𝑎2 + 𝑏2) 

= 𝑎𝑏𝑥2 + 𝑎𝑏𝑦2 − 𝑎2𝑥𝑦 − 𝑏2𝑥𝑦 

= 𝑎𝑏𝑥2 − 𝑎2𝑥𝑦 − 𝑏2𝑥𝑦 + 𝑎𝑏𝑦2 

= 𝑎𝑥(𝑏𝑥 − 𝑎𝑦) − 𝑏𝑦(𝑏𝑥 − 𝑎𝑦) 

= (𝑏𝑥 − 𝑎𝑦)(𝑎𝑥 − 𝑏𝑦) 

 

28. 𝑥2 − 𝑥(𝑎 + 2𝑏) + 2𝑎𝑏 

Solution: 

𝑥2 − 𝑥(𝑎 + 2𝑏) + 2𝑎𝑏 

= 𝑥2 − 𝑎𝑥 − 2𝑏𝑥 + 2𝑎𝑏 

= 𝑥(𝑥 − 𝑎) − 2𝑏(𝑥 − 𝑎) 

= (𝑥 − 𝑎)(𝑥 − 2𝑏) 


